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1. Answer any fwo parts :

(a) Whét constitutes the knife-edge instability problem in the Harrod model ? Give a formal

“proof and illustrate with an éxample. : | 144425
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T () What' is the crucial difference in assumptions between the Solow model and t_he:

AK mode} ? Explain how tlhat results in different sources of persisient growth in the

two models. | R : _ Lo 3.5+4

C (o) One of the majn contributions of the new grou(th models, like the Romer mohdel,
has been to _em;)hasize that ideas are very differer-lt from other egonbmi‘c goods.”

' ,Explain how i«;leas are différeqt and why it necessary to move away fro_m'models of- -

perfect competition. _ R ' 7.5
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Answer any Hwo parts :
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Explain why an increase in saving in the Solow model has a level effect but nat a

growth effect. | . _' : 75

What is the Golden Rule level of capital ? Explain the policy interventions required -
to achieve ‘Ehe.Golden Rﬁle l.evel if the actual capital stock differs from the Golden

Rule level. o . I | o ‘ '3_5+4'

Show how the Romer model exhlbns a scale effect in levels, that is, a larger economy

" will be a richer economy Give the demand and supply effects. Explam the two opposmg

effects of Sg on per capita output. L T 3.5+2+42
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Answer any fwo parts

(a) Explain, using diagrams, Fisher’s model of inter-femporal choice. | 7.5

A

() Using the Cobb-Douglas production function, show how the desired capital stock

varies with output and the rental cost of capital. a 7.5°

(¢) Explain the Baumol—Tobih model of transactions demand for money. What is the

significance of the model for macroeconomit policy ? | o | 54-2.5 B
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Answer any fwo parts :

(a) The Life Cycle Hypothesis (LCH) is a microeconomic theory about an individual’s

)

(©

lifetime consumption and saving patterns. Explain, How does the theory relate to aggreghte

consumption ? - S - | 542.5

C'ompare the Life Cycle Hypothesis (LCH) and the Permanent Income Hypothesis (PIH).

~ Give three reasons ‘why consumption may be more sensitive to predictable changes in

income than what the LCH and PIH suggest. : 4.5+3

- Do you agree with the following ? Give reasons for your answer : 2.5x3=75

() Investment tends to be higher when the nominal interest rate is lower
(i) Investment tax credit reduces the rental cost of 'capit'al

(iif) A booming stock market is good for investment.
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Answer any fwo parts .
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(c_)

If Government spending is unchanged, a decrease in taxes in the present must
eventually be offset by an increase in taxes in the future. Stiow that the longer the

government waits to increase taxes, or the higher the real rate of interest, the higher the '

. eventual increase in taxes. o _ oo o 75
Critically analyze the Ricardian Equivalence Proposition. ' 75

_ “Inflation is always and everywhere a monetary phenomenon.™ Discuss. 7.5
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